OTC Pink Basic Disclosure Guidelines

1) Name of the issuer and its predecessors (if any)

In answering this item, please also provide any names used by predecessor entities in the past five years and the dates of the name changes.

Encountercare Solutions, Inc.

2) Address of the issuer's principal executive offices

Company Headquarters
Address 1: Encountercare Solutions, Inc.
Address 2: 2401 PGA Blvd, Suite 196
Address 3: Page Barbara Solutions, FL 33410

Phone: <u>561-444-3981</u>

Email: Billrobertson@encountercare.com
Website(s): www.encountercare.com
www.care4kids.com
www.cyberfuelsinc.com

IR Contact

Address 1: Encountercare Solutions, Inc. C/O Bill Robertson

Address 2: <u>2401 PGA Blvd, Suite 196</u> Address 3: <u>Palm Beach Gardens, FL 33410</u>

Phone: 604-837-3835

Email: <u>Billrobertson@encountercare.com</u> Website(s): <u>www.encountercare.com</u>

3) Security Information

Trading Symbol: <u>ECSL</u> Exact title and class of securities outstanding: <u>C</u> CUSIP: <u>278744-10-7</u> Part of Stated Volum: \$ 001	ommon stock		
Par or Stated Value: \$.001	oo of: 10/21/201	c	
Total shares authorized: <u>75,000,000</u>	as of: <u>12/31/201</u>		
Total shares outstanding: <u>65,192,159</u>	as of: <u>12/31/201</u>	<u>0</u>	
Additional class of securities (if necessary):			
Trading Symbol:			
Exact title and class of securities outstanding: _			
CUSIP:			
Par or Stated Value:			
Total shares authorized:	as of:		
Total shares outstanding:	as of:		
Transfer Agent			
Name: American Registrar and Transfer			
Address 1: American Registrar and Transfer			
Address 2: 342 East 900 South			
Address 3: Salt Lake City, Utah 84111			
Phone: (801)363-9065			
Is the Transfer Agent registered under the Exch	ange Act?*	Yes: 🛛	No:

^{*}To be included in the OTC Pink Current Information tier, the transfer agent must be registered under the Exchange Act.

List any restrictions on the transfer of security:

None

Describe any trading suspension orders issued by the SEC in the past 12 months.

None

List any stock split, stock dividend, recapitalization, merger, acquisition, spin-off, or reorganization either currently anticipated or that occurred within the past 12 months:

None

4) Issuance History

List below any events, in chronological order, that resulted in changes in total shares outstanding by the issuer in the past two fiscal years and any interim period. The list shall include all offerings of equity securities, including debt convertible into equity securities, whether private or public, and all shares or any other securities or options to acquire such securities issued for services, describing (1) the securities, (2) the persons or entities to whom such securities were issued and (3) the services provided by such persons or entities. The list shall indicate:

A. The nature of each offering (e.g., Securities Act Rule 504, intrastate, etc.);

None

B. Any jurisdictions where the offering was registered or qualified;

None

C. The number of shares offered:

<u>None</u>

D. The number of shares sold;

See table attached.

E. The price at which the shares were offered, and the amount actually paid to the issuer;

See table attached

F. The trading status of the shares; and

All shares are issued with a 144 legend and/or are restricted for one year from the date of the agreement.

G. Whether the certificates or other documents that evidence the shares contain a legend (1) stating that the shares have not been registered under the Securities Act and (2) setting forth or referring to the restrictions on transferability and sale of the shares under the Securities Act.

Yes all shares are subject to 144 restriction.

Stock Issued for Services						
Amount of Shares	Price per share	Total value	Entities Issued to	Services Provided		
10,000	\$ 0.33	\$ 3,300	Albert Verbeurgt	Consulting Services		
250,000	\$ 0.33	\$ 82,500	LSH	Consulting Services		
250,000	\$ 0.33	\$ 82,500	LSH	Consulting Services		
250,000	\$ 0.33	\$ 82,500	LSH	Consulting Services		
250,000	\$ 0.33	\$ 82,500	LSH	Consulting Services		
20,000	\$ 0.33	\$ 6,600	Robert Good	Consulting Services		
100,000	\$ 0.33	\$ 33,000	Maniscalco Enterprises	Consulting Services		
86,083	\$ 0.40	\$ 34,433	Douglass B Clark	Consulting Services		
20,000	\$ 0.40	\$ 8,000	George Van Kirk	Consulting Services		
9,076	\$ 0.40	\$ 3,630	George Van Kirk	Consulting Services		
100,000	\$ 0.40	\$ 40,000	Michael Haridopolos	Consulting Services		
60,000	\$ 0.40	\$ 24,000	Michael Haridopolos	Consulting Services		
25,000	\$ 0.40	\$ 10,000	Ed Leddy	Consulting Services		
35,000	\$ 0.40	\$ 14,000	K. Brian Pybus	Professional Services		
311,000	\$ 0.40	\$ 124,400	Bill Robertson	Consulting Services		
50,000	\$ 0.52	\$ 26,000	K. Brian Pybus	Professional Services		
250,000	\$ 0.90	\$ 225,000	Thomas Gleason	Consulting Services		
160,000	\$ 0.10	\$ 16,000	Lucille Daley	Professional Services		
7,000	\$ 0.10	\$ 700	Robert Good	Consulting Services		
100,000	\$ 0.10	\$ 10,000	Gail Mills	Professional Services		
48,000	\$ 0.10	\$ 4,800	Lucille Daley	Professional Services		
35,000	\$ 0.90	\$ 31,500	Douglas Clark	Professional Services		
200,000	\$ 0.12	\$ 24,000	Lucille Daley	Professional Services		
35,000	\$ 0.90	\$ 31,500	Robert Good	Consulting Services		
50,000	\$ 0.19	\$ 9,500	Hudson Capital Advisors	Professional Services		
60,000	\$ 0.90	\$ 54,000	MHJ Consulting	Consulting Services		

Stock Issued for Cash and Convertible Promissory Notes						
Amount of Shares	Price per share	Total value	Entities Issued to			
25,000	\$ 0.32	\$ 8,000	Daniel Diehl			
66,667	\$ 0.30	\$ 20,000	Michael Howell			
50,000	\$ 0.33	\$ 16,500	Grace Kuitula			
33,333	\$ 0.30	\$ 10,000	Albert Strickland			
33,333	\$ 0.30	\$ 10,000	Dallas Wolford			
16,667	\$ 0.24	\$ 4,000	Stephen Zimmermann			
10,000	\$ 0.35	\$ 3,500	Stephen Zimmermann			
14,706	\$ 0.33	\$ 4,853	ARB Investment Group			
20,000	\$ 0.40	\$ 8,000	Maurice Lind			
33,333	\$ 0.40	\$ 13,333	Antoinette Sansone			
50,000	\$ 0.40	\$ 20,000	Thomas Sansone			
50,000	\$ 0.40	\$ 20,000	Albert Strickland			
16,667	\$ 0.40	\$ 6,667	Richard Strong			
36,667	\$ 0.40	\$ 14,667	Lucille Daley			
16,667	\$ 0.40	\$ 6,667	Daniel Diehl			
17,500	\$ 0.40	\$ 7,000	Maurice Lind			
33,333	\$ 0.40	\$ 13,333	Thomas Sansone			
33,333	\$ 0.40	\$ 13,333	David Thorfinnson			
100,000	\$ 0.40	\$ 39,990	Elizabeth Burnett			
100,000	\$ 0.40	\$ 39,980	Stephan Orlitsky			
30,000	\$ 0.40	\$ 12,000	Larry Mccaskill			

28,070	\$ 0.40	\$	11,228	David Thorfinnson
3,000	\$ 0.40	\$	1,200	Barbara Mucha
3,000	\$ 0.40	\$	1,200	Barbara Mucha
6,000	\$ 0.40	\$	2,400	Barbara Mucha
18,519	\$ 0.40	\$	7,408	David Brannon
13,250	\$ 0.40	\$	5,300	DJ Barnes
39,130	\$ 0.40	\$	15,652	Leon Frenkel
45,455	\$ 0.40	\$	18,182	Albert Verbeurgt
18,000	\$ 0.40	\$	7,200	Jane Baker
18,000	\$ 0.40	\$	7,200	DJ Barnes
13,250	\$ 0.40	\$	5,300	DJ Barnes
55,991	\$ 0.40	\$	22,396	Karl St George
32,000	\$ 0.40	\$	12,800	Kenneth Vein
22,500	\$ 0.40	\$	9,000	DJ Barnes
20,000	\$ 0.40	\$	8,000	Thomas Sansone
5,000	\$ 0.40	\$	2,000	Jeffery Zak
5,000	\$ 0.40	\$	2,000	Calvin Hay
18,334	\$ 0.40	\$	7,334	Stephen Zimmerman
25,000	\$ 0.44	\$	11,000	Jonathan Leddy
125,000	\$ 0.44	\$	55,000	Albert Verbeurgt
18,382	\$ 0.44	\$	8,088	Leon Frenkel
17,544	\$ 0.44	\$	7,719	Ronald Bressan
23,684	\$ 0.44	\$	10,421	Daniel Diehl
21,053	\$ 0.44	\$	9,263	DJ Barnes Family Holdings
28,302	\$ 0.44	\$	12,453	Steven Kushner
3,509	\$ 0.44	\$	1,544	Charles Miller
17,544	\$ 0.44	\$	7,719	Thomas Sansone
28,070	\$ 0.44	\$	12,351	David Thorfinnson
50,000	\$ 0.44	\$	22,000	Weiner Investments & Holdings
30,000	\$ 0.44	\$	13,200	Timothe Hout
379,546	\$ 0.44	\$	167,000	Maniscalco Enterprises
18,199	\$ 0.44	\$	8,008	Howard Shapiro
14,286	\$ 0.44	\$	6,286	Karl St George
14,286	\$ 0.44	\$	6,286	Martin Walker
12,000	\$ 0.44	\$	5,280	Merger Masters
9,000		\$	3,960	Merger Masters
8,970	\$ 0.44	\$	3,947	Merger Masters
24,000	\$ 0.44	\$	10,560	Howard Shapiro
9,000	\$ 0.44	\$	3,960	Howard Shapiro
9,000	\$ 0.44	\$	3,960	Howard Shapiro
8,970	\$ 0.44	\$	3,947	Howard Shapiro
8,970	\$ 0.44	\$	3,947	Howard Shapiro
9,000	\$ 0.44	\$	3,960	Howard Shapiro
8,970	\$ 0.44	\$	3,947	Howard Shapiro
	\$ 0.44	\$		Jane Baker
13,300	•	\$	5,852	
36,765		\$	16,177	Steven Kushner
6,000	\$ 0.44		2,640	Barbara Mucha
258,621	\$ 0.44	\$	113,793	Weiner Family Limited Partnership
29,411	\$ 0.44	\$	12,941	Weiner Family Limited Partnership
22,058	\$ 0.44	\$	9,706	Weiner Family Limited Partnership
88,238	\$ 0.44	\$	38,825	Weiner Investments & Holdings
25,300	\$ 0.60	\$	15,180	Howard Shapiro
5,000	\$ 0.60	\$	3,000	Jahim Baskerville
17,675 10,000	\$ 0.60 \$ 0.60	\$ \$	10,605	Jay Herod
			6,000	Lisa Lind

33,333	\$ 0.60	\$	20,000	Weiner Investments & Holdings
3,905	\$ 0.60	\$	2,343	Frank Yamrick
18,000	\$ 0.60	\$	10,800	Merger Masters International
28,000	\$ 0.60	\$	16,800	Sandor Capital Master Funds
18,000	\$ 0.60	\$	10,800	Howard Shapiro
10,000	\$ 0.60	\$	6,000	Frank Yamrick
5,555	\$ 0.60	\$	3,333	Michael Yamrick
16,666	\$ 0.60	\$	10,000	Steve Zimmerman
10,000	\$ 0.60	\$	6,000	Steve Zimmerman
33,333	\$ 0.68	\$	22,666	DOUG BANGLE
10,000	\$ 0.68	\$	6,800	STELLA BERNHARD
10,000	\$ 0.68	\$	6,800	STELLA BERNHARD
42,000	\$ 0.68	\$	28,560	LEON FRANKEL
42,000	\$ 0.68	\$	28,560	LEON FRENKEL
5,000	\$ 0.68	\$	3,400	CALVIN HAY
5,000	\$ 0.68	\$	3,400	CALVIN HAY
60,000	\$ 0.68	\$	40,800	MHJ CONSULTING
28,000	\$ 0.68	\$	19,040	SANDOR CAPITAL MASTER FUND
28,000	\$ 0.68	\$	19,040	SANDOR CAPITAL MASTER FUND
5,700	\$ 0.68	\$	3,876	THOMAS SANSONE
5,700	\$ 0.68	\$	3,876	THOMAS SANSONE
42,000	\$ 0.68	\$	28,560	HOWARD SHAPIRO
4,200	\$ 0.68	\$	2,856	HOWARD SHAPIRO
3,750	\$ 0.68	\$	2,550	KAY TYLER
9,333	\$ 0.68	\$	6,346	KAY TYLER
33,000	\$ 0.68	\$	22,440	WEINER INVESTMENTS & HOLDINGS, LP
33,000	\$ 0.68	\$	22,440	WEINER INVESTMENTS & HOLDINGS, LP
11,250	\$ 0.68	\$	7,650	ALAN R DAVIDSON
25,300	\$ 0.68	\$	17,204	FINANCIAL TRADING CONSULTANTS
101,250	\$ 0.68	\$	68,850	LEON FRENKEL
11,250	\$ 0.68	\$	7,650	DEBORAH MELTZER
25,300	\$ 0.68	\$	17,204	MERGER MASTERS INTERNATIONAL
3,370	\$ 0.68	\$	2,292	DINA SHAPIRO FRIED
3,370	\$ 0.68	\$	2,292	DINA SHAPIRO FRIED
33,800	\$ 0.68	\$	22,984	HOWARD SHAPIRO
3,370	\$ 0.68	_	2,292	HOWARD SHAPIRO
3,370	\$ 0.68	\$	2,292	HOWARD SHAPIRO
3,370	\$ 0.68	\$	2,292	HOWARD SHAPIRO
22,500	\$ 0.90	\$	20,250	Howard Shapiro
12,500	\$ 0.90	\$	11,250	Alan Davidson
20,000	\$ 0.90	\$	18,000	Alla Pasternack
12,500	\$ 0.90	\$	11,250	Deborah Meltzer
4,500	\$ 0.90	\$	4,050	Dina Shapiro Fried
4,500	\$ 0.90	\$	4,050	Dina Shapiro Fried
30,000	\$ 0.90	\$	27,000	Frenkel Family Trust
45,000	\$ 0.90	\$	40,500	Howard Shapiro
4,500	\$ 0.90	\$	4,050	Howard Shapiro
4,500	\$ 0.90	\$	4,050	Howard Shapiro
4,500	\$ 0.90	\$	4,050	Howard Shapiro
62,500	\$ 0.90	\$	56,250	Leon Frenkel
22,500	\$ 0.90	\$	20,250	Merger Masters International
28,750	\$ 0.28	\$	8,000	DJ Barnes Family Holdings
13,250	\$ 0.75	\$	10,000	Ronald Bressan
10,000	\$ 0.90	\$	9,000	Daniel Diel
20,000	\$ 0.90	\$	18,000	Howard Shapiro
20,000	y 0.30	7	10,000	Howard Shapiro

7,000	\$ 0.90	\$ 6,300	Ronald Bressan
111,110	\$ 0.90	\$ 99,999	Sandor Capital Master Fund
20,000	\$ 0.90	\$ 18,000	Leon Frankel
6,250	\$ 0.90	\$ 5,625	Donna Mccoy
14,777	\$ 0.90	\$ 13,299	Jennifer Johnson
13,000	\$ 0.90	\$ 11,700	Paul Polosi
8,500	\$ 0.90	\$ 7,650	John Anderson
27,777	\$ 0.90	\$ 25,000	Weiner Family Limited Partnership
27,777	\$ 0.90	\$ 24,999	Victor Behar
6,250	\$ 0.80	\$ 5,000	Ronald Bressan
6,250	\$ 0.90	\$ 5,625	Donna Mccoy
6,250	\$ 0.80	\$ 5,000	Joel Austin
6,250	\$ 0.80	\$ 5,000	Ronald Bressan
6,250	\$ 0.80	\$ 5,000	Frank Rappo
62,500	\$ 0.80	\$ 50,000	Weiner Investments & Holdings
6,250	\$ 0.90	\$ 5,625	Donna Mccoy
15,000	\$ 0.53	\$ 8,000	Albert Vereurgt
16,667	\$ 0.76	\$ 12,667	Albert Vereurgt
7,000	\$ 1.00	\$ 7,000	Clive Babb
15,300	\$ 1.00	\$ 15,300	David Brannon
14,000	\$ 0.96	\$ 13,400	Ronald Bressan
9,000	\$ 0.80	\$ 7,200	Jeffery Dern
16,000	\$ 0.80	\$ 12,800	Sharon Dern
100,000	\$ 1.00	\$ 100,000	Old World Industries
23,300	\$ 1.00	\$ 23,300	Thomas Sansone
14,000	\$ 0.71	\$ 10,000	Richard Strong
10,000	\$ 0.50	\$ 5,000	Steve Zimmerman
4,000	\$ 1.25	\$ 5,000	Steve Zimmerman

Stock Issued for Exercised Warrants						
Amount of Shares	Price per share		•	Total value	Entities Issued to	
45,454	\$	0.20	\$	9,091	Benedict Maniscalco	

5) Financial Statements

Provide the financial statements described below for the most recent fiscal year end or quarter end to maintain qualification for the OTC Pink Current Information tier. For the initial disclosure statement (qualifying for Current Information for the first time) please provide reports for the two previous fiscal years and any interim periods.

- A. Balance sheet:
- B. Statement of income;
- C. Statement of cash flows;
- D. Financial notes: and
- E. Audit letter, if audited

The financial statements requested pursuant to this item shall be prepared in accordance with US GAAP by persons with sufficient financial skills.

You may either (i) attach/append the financial statements to this disclosure statement or (ii) post such financial statements through the OTC Disclosure & News Service as a separate report using the appropriate report name for the applicable period end. ("Annual Report," "Quarterly Report" or "Interim Report").

If you choose to publish the financial reports separately as described in part (ii) above, you must state in the accompanying disclosure statement that such financial statements are incorporated by reference. You may reference the document(s) containing the required financial statements by indicating the document name, period end date, and the date that it was posted to otcig.com in the field below.

The following financial statements (unaudited) are uploaded as separate documents incorporated herein by reference for the period ended December 31, 2016. They can be found through the OTC Disclosure and News Service at http://www.otcmarkets.com/stock/ECSL/Filings.

- 1. Consolidated Balance Sheet as of December 31, 2016;
- 2. Consolidated Statement of Operations for the period ended December 31, 2016;
- 3. Consolidated Statement of Changes in Shareholders' Deficit for the period ended December 31, 2016;
- 4. Consolidated Statement of Cash Flows for the period ended December 31, 2016;
- 5. Notes to Financial Statements for the period ended December 31, 2016.

Information contained in a Financial Report is considered current until the due date for the subsequent Financial Report. To remain in the OTC Pink Current Information tier, a company must post its Annual Report within 90 days from its fiscal year-end date and Quarterly Reports within 45 days of its fiscal quarter-end date.

6) Describe the Issuer's Business, Products and Services

Describe the issuer's business so a potential investor can clearly understand the company. In answering this item, please include the following:

A. a description of the issuer's business operations:

The Issuer is currently an integrated healthcare company that operates its business through two divisions: Healthcare Technology Division and the Healthcare Services Division. Encounter Care Solutions, Inc.'s operating businesses offer a broad range of proprietary healthcare technology, products and services that address several very sizeable and rapidly growing target markets, including: the Telemedicine Market, Healthcare Information Technology Market, and Home Healthcare Market. The Issuer is the parent company of a wholly owned subsidiary known as Building Blocks Pediatric Home Health. Building Blocks is a high-tech home care service exclusively for children, from infants to adolescents. BB's suite of services includes: Skilled Nursing, Home Infusion, Home Medical Equipment, Managed Care, & Ancillary Services. Building Blocks has been included in the attached financial statements. The issuer has also started an energy division named Cyber Fuels a wholly owned subsidiary which focuses on the alternative fuels market.

B. Date and State (or Jurisdiction) of Incorporation:

The Issuer is a Delaware corporation organized December, 1996 under the name Galaxy Ventures, Inc.

C. the issuer's primary and secondary SIC Codes;

The Issuer's primary and secondary SIC Codes are: 3845 and 8082

D. the issuer's fiscal year end date;

The Issuer has a fiscal year end at June 30th.

E. principal products or services, and their markets:

A. Electronic House Call (EHC) is a patent protected, best-in-class remote patient monitoring system that can be customized remotely and installed either wired or wirelessly. ECH can be used in a variety of locations from a care center to the patient's home.

CyberCare Health Network is a medical data information exchange/network. It will focus on managing the Healthcare initiatives of EncounterCare Solutions. CyberCare Health Network will begin marketing a new product for drug and alcohol addiction treatment and recovery which will incorporate the capabilities of the Electronic House Call Technology.

Building Blocks Pediatric Home Health Services (BB) is a high-tech home care service exclusively for children, from infants to adolescents. BB's suite of services includes: Skilled Nursing, Home Infusion, Home Medical Equipment, Managed Care, & Ancillary Services. The market opportunity for BB is enormous, and it has signed an important agreement with Kaiser Permanente and is expanding into the Northern California region.

Cyberfuels Inc offers alternative fuel products such as Singular 96 and EMG 96. The company also currently sells fuel additives which are sold through their website cyberfuelsinc.com under the names Dynamo Octane Booster and Dynamo Cetane Booster. Additionally the company has entered the onsite retail market with its dynamo product line.

Encountercare Solution, Inc. is a market and technological leader in providing comprehensive healthcare solutions that addresses numerous healthcare needs in today's dynamic and ever-changing market.

- B. Electronic House Call is currently being distributed through contracts maintained by Building Blocks.
- C. CyberCare Health Network has already been developed and will start to be deployed in October of 2012.
- D. The Issuer's Integrated Business Model creates outstanding competitive advantages in the healthcare marketplace because it provides numerous product and service synergies as well as economies of scale to all levels of its potential partners and customers (patients, physicians, and providers).
- E. The Issuer has agreements with Authentidate Holding Corp. and Coghlin Companies Inc. to supply and manufacture the Electronic House Call.
- F. The Issuer has contracts with the following health insurance companies: Monarch, Memorial Health Services, Blue Shield, Universal Care, Aetna, Blue Cross, Pacific Care, Tri West, and Molina but there is no dependence on a single client.
- G. Authentidate Holding Corp. has a licensing agreement with the Issuer to use and distribute the Electronic House Call technology for an unspecified period of time. There are also employment contracts with the two officers of the corporation.
- H. The Remote patient monitoring suite of products has FDA 510K approval K090801 and Pat. No 598719. There is also a newly announced sensor for EHC for use in substance abuse recovery which is currently awaiting 510K approval from the FDA.

7) Describe the Issuer's Facilities

The goal of this section is to provide a potential investor with a clear understanding of all assets, properties or facilities owned, used or leased by the issuer.

In responding to this item, please clearly describe the assets, properties or facilities of the issuer, give the location of the principal plants and other property of the issuer and describe the condition of the properties. If the issuer does not have complete ownership or control of the property (for example, if others also own the property or if there is a mortgage on the property), describe the limitations on the ownership.

If the issuer leases any assets, properties or facilities, clearly describe them as above and the terms of their leases.

In April 2012, the Issuer entered into a lease agreement for an office space with 1,800 sq. ft. at 27101 Aliso Creek Rd, STE 100, Aliso Viejo, California 92656 for a term beginning on May 1, 2012 through April 30, 2016. Through April 30, 2016, the monthly rent expense is \$1,724.25 per month. The Issuer is also in a year to year lease agreement for office space at 2401 PGA Blvd, STE 196, Palm Beach Gardens, Florida, 33410 with 1,500 sq. ft., at a monthly rate of \$850. In June 2013 the Issuer entered into a lease 76 Summer Street STE 7, Manchester, Massachusetts 01944 with 2,000 sq. ft. which is for the length of 1 year. This property has a monthly rent of \$700.

8) Officers, Directors, and Control Persons

The goal of this section is to provide an investor with a clear understanding of the identity of all the persons or entities that are involved in managing, controlling or advising the operations, business development and disclosure of the issuer, as well as the identity of any significant shareholders.

A. <u>Names of Officers, Directors, and Control Persons.</u> In responding to this item, please provide the names of each of the issuer's executive officers, directors, general partners and control persons (control persons are beneficial owners of more than five percent (5%) of any class of the issuer's equity securities), as of the date of this information statement.

Ronald W. Mills, Sr. President, Chairman

- B. <u>Legal/Disciplinary History</u>. Please identify whether any of the foregoing persons have, in the last five years, been the subject of:
 - 1. A conviction in a criminal proceeding or named as a defendant in a pending criminal proceeding (excluding traffic violations and other minor offenses);

<u>None</u>

2. The entry of an order, judgment, or decree, not subsequently reversed, suspended or vacated, by a court of competent jurisdiction that permanently or temporarily enjoined, barred, suspended or otherwise limited such person's involvement in any type of business, securities, commodities, or banking activities;

None

 A finding or judgment by a court of competent jurisdiction (in a civil action), the Securities and Exchange Commission, the Commodity Futures Trading Commission, or a state securities regulator of a violation of federal or state securities or commodities law, which finding or judgment has not been reversed, suspended, or vacated; or

None

4. The entry of an order by a self-regulatory organization that permanently or temporarily barred suspended or otherwise limited such person's involvement in any type of business or securities activities.

None

C. <u>Beneficial Shareholders</u>. Provide a list of the name, address and shareholdings or the percentage of shares owned by all persons beneficially owning more than ten percent (10%) of any class of the issuer's equity securities. If any of the beneficial shareholders are corporate shareholders, provide the name and address of the person(s) owning or controlling such corporate shareholders and the resident agents of the corporate shareholders.

Ronald W. Mills, Sr 2401 PGA Blvd, Suite 196, Palm Beach Gardens, FL 33410 Share Holdings 5,369,566

9) Third Party Providers

Please provide the name, address, telephone number, and email address of each of the following outside providers that advise your company on matters relating to operations, business development and disclosure:

Legal Counsel

Name: Bruce Rosetto

Firm: Greenberg Taurig, LLP

Address 1: 5100 Town Center Circle, Suite 400

Address 2: Boca Raton, FL 33486

Phone: <u>561-955-7600</u> Email: <u>rosettob@gtlaw.com</u>

<u>Accountant</u>

Name: K. Brian Pybus

Firm:

Address 1: 824 US HWY 1, Suite 110
Address 2: North Palm Beach, FL 33408

Phone: <u>561-282-1870</u> Email: <u>brian@pybuscpa.com</u>

Investor Relations Consultant

Name: Bill Robertson

Firm:

Address 1: <u>2401 PGA Blvd, Suite 196</u> Address 2: Palm Beach Gardens, FL 33410

Phone: 604-837-3835

Email: Billrobertson@encountercare.com

Other Advisor: Any other advisor(s) that assisted, advised, prepared or provided information with respect to this

disclosure statement. Name: <u>W. Andrew Stack</u>

Firm: Law Offices of W. Andrew Stack Address 1: 22813 Highway 71 West Address 2: Spicewood, TX 78669

Phone: <u>512-773-8068</u> Email: astacktx@yahoo.com

10) Issuer Certification

The issuer shall include certifications by the chief executive officer and chief financial officer of the issuer (or any other persons with different titles, but having the same responsibilities).

The certifications shall follow the format below:

- I, Ronald Mills CEO, Chairman, certify that:
 - 1. I have reviewed this annual disclosure statement of Encountercare Solutions, Inc;
 - 2. Based on my knowledge, this disclosure statement does not contain any untrue statement of a material fact or omit to state a material fact necessary to make the statements made, in light of the circumstances under which such statements were made, not misleading with respect to the period covered by this disclosure statement; and
 - 3. Based on my knowledge, the financial statements, and other financial information included or incorporated by reference in this disclosure statement, fairly present in all material respects the financial condition, results of operations and cash flows of the issuer as of, and for, the periods presented in this disclosure statement.

February 14, 2017 [Date]

/s/ Ronald W. Mills, Sr. [CEO's Signature]

(Digital Signatures should appear as "/s/ [OFFICER NAME]")

CEO, Chairman [Title]